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Question 1

Question Type: MultipleChoice

In Service Mapping, which one of the following best describes the process of discovery after an Entry Point is configured?

Options:

A- For each pattern that supports the Entry Point Type, run all the Identification Sections and run all Extension Sections.

B- For each pattern that supports the Entry Point Type, run Identification Sections until one finishes successfully and then run all
Extension Sections for the pattern.

C- For each pattern that supports the Entry Point Type, run all the Identification Sections that finish successfully and then run each
Extension Section for the pattern.

D- For each pattern that supports the Entry Point Type, run Identification Sections until one finishes successfully and then run
Extensions Sections until one finishes successfully.

Answer:

D

Question 2




Question Type: MultipleChoice

When building a Discovery Pattern, which one of the following operations results in a termination of the Identification or Connection
Section if a condition is not met?

Options:

A- Set Parameter Value
B- Merge Table

C- Filter Table

D- Match

Answer:

D

Question 3

Question Type: MultipleChoice

Which one of the following best represents the breadth of types of Configuration Items (ClIs) discovered by



running Service Mapping?

Options:

A- Hardware, Installed Software, Network Gear

B- Physical Components, Logical Components, Certificates
C- Applications, Licenses, IP Addresses

D- Cloud Services, Applications, Cl Relationships

E- Hardware, Licenses, Cl Relationships

Answer:

Question 4

Question Type: MultipleChoice

After discovering load balancers in a customer environment, service candidates may appear on the Service Mapping Home page under
which one of the following tiles?



Options:

A- Map

B- Fix

C- Approve
D- Completed

E- Review

Answer:

B

Question 5

Question Type: MultipleChoice

You have run Service Mapping discovery against a customer service and discovered the CI in the image. The customer indicates that
Apache should have an outgoing connection to Tomcat. Which one of the following could be the issue?



@ Apache w
on ip-198-51-240-...

Options:

A- No Connection Section is defined for Apache to Tomcat.
B- Process is offline for Tomcat.

C- No Tomcat CI Type is defined.

D- No Identification Rule is defined for Tomcat.

E- Credentials are not configured for Tomcat.

Answer:

A



Question 6

Question Type: MultipleChoice

In Service Mapping, which one of the following icons represents a credential error on the Service map?

Options:

A- Yellow triangle
B- Generic application
C- mark

D- Red stop sign
Section: (none)
Explanation

Answer:

Question 7




Question Type: MultipleChoice

In the following image of the Discovery Log, the green S represents which one of the following?

0 Discovery Log
- n 1S Virtual Directory
+ n Identification for 1IS Website entry point type(s)
- [5) MysQL connectivity
B find jdbc in all files
B find jdbc connection in urls

Options:

A- A library in the Connection Section of a pattern
B- A step in the Connection Section of a pattern
C- A step in an Identification Section of a pattern

D- A library in an ldentification Section of a pattern

Answer:




Question 8

Question Type: MultipleChoice

Which one of the following best describes what will happen if Discovery is configured with 3 MID Servers in a Load Balance Cluster with
Shazzam cluster support disabled?

Options:

A- All three MID Servers will be used during the Port Scan phase and all three will be used during the
classification phase.

B- Only one MID Server will be used during the Identification phase and all three will be used during the exploration phase.
C- Only one MID Server will be used during the Port Scan phase and all three will be used during the classification phase.

D- All three MID Server will be used during the Identification phase and only one will be used during the exploration phase.

Answer:




Question 9

Question Type: MultipleChoice

Which one of the following is a valid format when entering SSH Private Key credentials?

Options:

A- PEM
B- PGP
C- PDP
D- PMI

Answer:

A

Question 10

Question Type: MultipleChoice




Which one of the following Regular Expressions could be used to parse the value 5.2.0 from the string?

Options:

A- Version (\.¥)

B- Version\s+(\d+\.\d+\.\d+)
C- Version (\d+)

D- Version (\d+).(\d+).(\d+)

Answer:

Explanation:

id=7dacled1db8b5494190b1ea6689619cc

Question 11

Question Type: MultipleChoice




Which address is required for Service Mapping to discover a Load Balancer that does not previously exist in the CMDB?

Options:

A- Management IP address
B- MAC address

C- Public IP address

D- MIB address

Answer:

Question 12

Question Type: MultipleChoice

In Service Mapping, when an application is identified as a Generic application, which one of the following is the cause?



Options:

A- No Pattern Identification Section matches
B- No Pattern Identification and Connection Section matches
C- No ldentification Rule exists

D- No Pattern Connection Section matches

Answer:

A
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